C:h Dividing Whole Numbers

Name:
Solve each problem. Answers
1) 90+2= 2) 42+2 =
- - 1.
2.
3.
3) 67+7= 4) 54+2 = 4.
5.
6.
7.
5) 11+8 = 6) 96+2 =
8.
9.
10.
7) 63+8 = 8) 08+2=
— —_— 11.
12.
9 38:5= 10) 52:2=
11) 6627 = 12) 66+8 =
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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Dividing Whole Numbers Name. Answer Key
Solve each problem. Answers
1) 90+2= 45 2) 42+2= 21 a5
1.
2. 21
3. 9r4
3 67<7= 9r4 4 542 = 27 4 27
5. 1r3
6 48
7. 7r7
5 11+8= 113 6) 96+2= 48
8 49
0. 7r3
10. 26
7) 63+8 = 7r7 8) 98+2 = 49 1 9 r3
12. 8r2
9 38:5= 713 10) 52+2= 26
11) 66=7= 913 12) 66+8= 812
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 1 11-121 8 | 0




C:h Dividing Whole Numbers

Name:
Solve each problem. Answers
1) 098+2= 2) 32+3=
- 1.
2,
3.
3) 52+2= 4) 43+8= 4.
5.
6.
7.
5 60+8= 6) 26+4 =
8.
9.
10.
7 70:2 = 8) 46+2 =
E— E— 11.
12.
9 56+2= 10) 35+4=
11) 60+7 = 12) 54+2 =
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 11-121 8 | 0




ﬂh Dividing Whole Numbers

Name:

Answer Key

Solve each problem. Answers
1 2 = 2) +3=
) 98+2 49 32+3 10r2 . 49
2. 10r2
3. 26
3 52:2= 26 4) 43+:8= 513 4, or3
5. 7r4
6. 6r2
7 35
5 60:8= 7r4 6) 26+4= 612
8 23
9 28
10. 8r3
- — 8 T,
) 70+2= 35 ) 46+2= 23 " Sr4
12, 217
9 56+2= 28 10) 35+4= 8r3
11) 60+7= 8r4 12) 54+2=_ 27
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 2 11-121 8 | 0




C:h Dividing Whole Numbers

Name:
Solve each problem. Answers
1) 54+2 = 2) 84+2=
- - 1.
2.
3.
3) 21+2= 4) 274 = 4.
5.
6.
7.
5) 30+9= 6) 59+6 =
8.
9.
10.
7) 66+2 = 8) 61+6=
—_— 11.
12.
9 60:2= 10) 29:2 =
11) 58+2= 12) 90+2=
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 3 11-121 8 | 0




ﬂh Dividing Whole Numbers Name. Answer Key

Solve each problem. Answers
1) 54+2= 27 2) 84+2= 42 o7
1.
2 42
3. 10r1
3 21+2= 10r1 4 27+4= 613 a. 6r3
5. 4r3
6. 9r5
7 33
5 39+9= 4r3 6) 50+6= 915
8. 10r1
9 30
10. 14r1
7) 66_2 = 33 8) 61_6 = 10rl 1 29
12 45
9 60+2= 30 10) 29-2= 14r1
11) 58+2= 29 12) 90+2= 45

1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 3 11-12( 8 | 0




C:h Dividing Whole Numbers

Name:
Solve each problem. Answers
1) 42+2= 2) 56+2=
- - 1.
2.
3.
3) 25+8= 4) 27+4 = 4.
5.
6.
7.
5 10+8= 6) 39:2=
8.
9.
10.
) 47+2= . 8 30+9= u
12.
9 82:2= 10) 48+2 =
11) 66+2 = 12) 88+2=
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 4 11-121 8 | 0




ﬂh Dividing Whole Numbers Name. Answer Key

Solve each problem. Answers
) 42:2= 21 2) 56+2= 28 21
1.
2 28
3. 3rl
3) 25:.8= 3r1l 4 27-4= 613 4, 6r3
5. 1r2
6. 19r1
7. 23rl
5 10:8= 112 6) 39+2= 19r1
8. 3r3
9 41
10. 24
) 47+2= 23r1 8 30+9= 3r3 " 33
12 44
9) 82+2= 41 10) 48+2= 24
11) g6=2= 33 12) 88+2= 44

1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 4 11-12( 8 | 0




C:h Dividing Whole Numbers

Name:
Solve each problem. Answers
1) 26+5= 2) 98+2=
- - 1.
2.
3.
3) 59+6= 4) 332+3= 4.
5.
6.
7.
5 72+2= 6) 66+2=
8.
9.
10.
7) 58+2 = 8) 17+9= .
12.
9 35:2= 10) 84+2=
11) 47-8= 12) 42+9=
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 5 11-121 8 | 0
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Dividing Whole Numbers Name. Answer Key
Solve each problem. Answers
1) 26+5= 511 2) 98+2= 49 501
1.
2. 49
3. 9r5
3 59+6=_ 915 4) 32:3= 10r2 s 1012
5 36
6 33
7 29
5 72+2= 36 6) 66+2= 33
8. 1r8
0. 17rl
10, 42
7) 58+2= 29 8 17+9= 118 " 5r7
12, 416
9 3B+2= 17r1 10) 84+2= 42
11) 47-8= 517 12) 42-9= 416
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 5 11-121 8 | 0




C:h Dividing Whole Numbers

Name:
Solve each problem. Answers
1) 43+2= 2) 59+9=
- 1.
2.
3.
3 94+2= 4) 59+7 = 4
5.
6.
7.
5) 5+2 = 6) 20+8=
8.
9.
10.
) 21+9= 8) 68+2=
— —_— 11.
12.
9) 78+2= 10) 50+2 =
11) 22:9= 12) 74+2 =
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 11-121 8 | 0




=

Dividing Whole Numbers Name. Answer Key
Solve each problem. Answers
1) 43+2= 21r1 2) 59+9= 615 2171
- 1.

2 6r5

) 47
3) 94+2= 47 4 59-7= 813 4, 8r3

5 28

6. 214

7. 213
5 56+2= 28 6) 20:8= 214

8 34

9 39

10, 25
) 21+9= 2713 8 68+2= 34 " 274

12, 37
9 78+2=_ 39 10) 50+2=_ 25
11) 22-9= 214 12) 74+2= 37

1-10 | 92|83 75|67 [58[50] 4233|2517 |

[ Math ] www.CommonCoreSheets.com 6 11-121 8 | 0




C:h Dividing Whole Numbers

Name:
Solve each problem. Answers
1) 76+2= 2) 96+2=
- - 1.
2.
3.
3) 23+5= 4) 62+2 = 4.
5.
6.
7.
5) 31+3= 6) 48+2=
8.
9.
10.
) 21+2= 8) 58+6 =
E— 11.
12.
9 42:2= 10) 38+8=
11) 25+2= 12) 50+2 =
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 7 11-121 8 | 0
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Dividing Whole Numbers Name. Answer Key
Solve each problem. Answers
1) 76=2= 38 2) 96+2= 48 38
1.
2. 48
3. 4r3
3 23+5= 413 4 62:2= 31 4 31
5. 10r1
6 24
7, 10r1
5 31+3= 10r1 6) 48+2= 24
8. 9r4
9 21
10. 4r6
7) 21-2= 10rl 8) 58+6 = 9r4 1 12r1
12, 25
9 42:2= 21 10) 38+8= 416
11) 25:2= 12r1 12) 50+2= 25
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 7 11-121 8 | 0




C:h Dividing Whole Numbers

Name:
Solve each problem. Answers
1) 62:2= 2) 84+2 =
- - 1.
2,
3.
3) 43:2= 4) 41+4 = 4.
5.
6.
7.
5) 50+Q = 6) 66+2 =
8.
9.
10.
) 92+2= 8 76+2=
EE— EE— 11.
12.
9) 16+9= 10) 37+5=
11) 34+4= 12) 64+2=
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 8 11-121 8 | 0




ﬂh Dividing Whole Numbers Name. Answer Key

Solve each problem. Answers
1) 62+2= 31 2) 84+2= 42 31
1.
2 42
3. 21r1
3 43-2= 21rl 4 41+4= 10r1 4 10rl
5. 5r5
6 33
7 46
5 50:9= 515 6) 66+2= 33
8 38
0. 1r7
10. 7r2
) 92+2= 46 8) 76+2= 38 " 812
12, 32
9 16+9= 1r7 10) 37<5= 712
11) 34+4= 82 12) 64+2= 32

1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 8 11-12( 8 | 0




JL_

Dividing Whole Numbers Name:
Solve each problem. Answers
1) 27+7= 2) 602 =
- 1.
2
3
3 84+2= 4) 49+9= 4,
5.
6.
7.
5 74+2 = 6) 94+2 =
8.
.
10.
7) 20-5= 8) 71+7=
11.
12.
9 27:5= 10) 48+2=
11) 38+5= 12) 64+2 =
1-10 [ 92|83 75]67 58|50 42[33| 25|17 |
[ Math ] www.CommonCoreSheets.com 9 11-121 8 | 0
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Dividing Whole Numbers Name. Answer Key
Solve each problem. Answers
1) 27+7= 316 2) 60+2= 30 316
1.
2 30
3, 42
3 84+2= 42 4) 49+9= 514 4 5r4
5 37
6 47
7. 5r4
5 74+2= 37 6) 94+2= 47
8. 10r1
0. 5r2
10, 24
) 29+5= 514 8 71+7= 10r1 u 713
12 32
9 27+5= 512 10) 48:2= 24
11) 38<5= 713 12) 64+2=__ 32
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 9 11-121 8 | 0




JL_

Dividing Whole Numbers Name:
Solve each problem. Answers
1) 38+6= 2) 25-7=
1.
2.
3.
3) 52+2= 4) 64+2 = 4.
5.
6.
7.
5 37+4= 6) 96+2=
8.
9.
10.
7) 32+5= 8) 74+2= .
12.
9 76+8= 10) 88+2=
11) 62+2= 12) 31+3=
1-10 | 92|83 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 10 11-121 8 | 0




ﬂh Dividing Whole Numbers

Name:

Answer Key

Solve each problem.

1) 38+6= 612 2)
3 52+2= 26 4)
5 37+4= 9r1 6)
7) 32:5=_ 612 8)
9 76+8= 9r4 10)
1) 2= 31 12)

25+7= 314
64+2=_ 32
9%+2= 48
74:2= 37
88+2=_ 44
31+3= 10rl

Answers
1 6r2
2 3r4
3. 26
4. 32
5. orl
6 48
7 612
8 37
9. 9r4
10 44
11. 31
12 10rl
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